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h 1d1. (1 + x)�J�OjtKN x = 0K*1kF$i<itr(;%2. 1p1� x2 N x = 0K*1kF$i<itraah%?@7$!N-frHCFh$%(2n)!! = 2n(2n� 2) � � � 4 � 2; (2n� 1)!! = (2n� 1)(2n� 3) � � � 3 � 1 ( n = 1; 2; : : : );0!! = (�1)!! = 1:3. ar
sinx = sin�1 x = Z x0 dyp1� y2 rQ$F$ar
sinxN x = 0K*1kF$i<it

raah%� �1. (1 + x)� = 1 + 1Xn=1 �n!xn;  �n! = �(� � 1) � � � (� � n+ 1)n! ( n = 1; 2; : : : ):2. 0dNz(hj 1p1� x2 = (1� x2)�1=2 = 1 + 1Xn=1(�1)n �1=2n !x2n:
33G$ �1=2n ! = (�1=2)(�3=2) � � � (1� 2n)=2n! = (�1)n 1 � 3 � � � (2n� 1)2nn! = (�1)n (2n� 1)!!(2n)!!
G"k+i$ 1p1� x2 = 1Xn=0 (2n� 1)!!(2n)!! x2n:3. 0dNY-itr`LQ,7F$ar
sinx = 1Xn=0 (2n� 1)!!(2n+ 1)(2n)!!x2n+1:� �

h 2d !Noy,}x0NlLrraah%(1) y0 = y(1� y); (2) y00 + 6y0 + 5y = 0; (3) y00 + 4y0 + 4y = 0;(4) y00 + 3y0 + 2y = xex; (5) y00 + y = sinx:� �1



1. ^:$jUNy,}x0Or y � 0; 1r}D%dydx = y(1� y); dyy(1� y) = dx; Z dyy(1� y) = Z dx;
8U = Z �1y + 11� y� dy = log jyj � log j1� yj+ 
onst. = log ���� y1� y ����+ 
onst.

Khj$ log ���� y1� y ���� = x+ 
 J
OjtK; y = Cex1 + Cex ( C = e
 6= 0 ):
r y � 1OeN0G C = 0HV$?lgKjv9k%

JzK y = Cex1 + Cex ( C : 
onst. ); y = 1:2. y = C1e�x + C2e�5x ( C1; C2 : 
onst. ).3. y = e�2x(C0 + C1x) ( C0; C1 : 
onst. ).4. 1!A z00 + 3z0 + 2z = 0 NlLrO z = C1e�x + C2e�2x ( C1; C2 : 
onst. ). Crry = u(x)ex NAGaak%y0 = (u0 + u)ex; y0 = (u00 + 2u0 + u)ex;y00 + 3y0 + 2y = (u00 + 5u0 + 5u)ex = xex; u00 + 5u0 + 6u = x:
3N u(x)KD$FNy,}x0O u(x) =J1!XtKNANrr}D%u(x) = ax+ bH*
/H$ 5a+ 6(ax+ b) = 6ax+ 5a+ 6b = x; ) a = 16 ; b = � 536 :
hCF$Cr y = 16 �x� 56� ex r@k%

JzK y = C1e�x + C2e�2x + 16 �x� 56� ex ( C1; C2 : 
onst. ):5. y00 + y = eixNrNutrHlPh$%
1!A z00+ z = 0NlLrO$z = C1 
osx+C2 sinx (C1; C2 : 
onst. ): Crr y = u(x)eix
NAGaak% y0 = (u0 + iu)eix; y00 = (u00 + 2iu0 � u)eix;y00 + y = (u00 + 2iu0)eix = eix; u00 + 2iu0 = 1:
3N u(x)KD$FNy,}x0Oru(x) = � ix2 rbD%hCF$Cr y = � ix2 eix ,@i
l?%JehjlLrO$y = C1 
osx+ C2 sinx� ix2 eix ( C1; C2 : 
onst. ):
utrHCF y = C1 
osx+ C2 sinx� x2 sinx ( C1; C2 : 
onst. ):2


